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14| E |None| 1NN2 120 1NN1 90 30 1 NS70 | 2 -
15| s | Ns| 4sw-1 50 4HW-1 50 EWe60 | 3 3
16| W | EW| 4HW-1 100 5CE5 600 | 700 12 NSO 3 12
B3+ INP|21 |13 14 | 3
; 3 K A
%5 10 iy 3 HfEE
* B IMP 21 13
£+ INP 21 13 .
2 HVP 13.12 6.88
5t




12EE<E 2RIpERF IR &

E

[ 5]

NS #uz #2&®O0

EW R#¥ Fik(RO)

12

Table 4

4

NS =44 wEn(R0)
EW a2 332 8(FC0)

B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R txz 2% | NS | EW | 29223 | NS | EW | #12 | #4 (#12| #4 |#12] #4 Mean NS EW
9 | N | EW 3DW-1 100 3NXN-2 300 | 400 9 EW70 5 6
10 | E |Both 4HW6 680 S5HE7 710 30 1 EW960 7 -6
11 | S |None 4SW-1 50 4SE4 420 || 470 10 EW290 8 4
12 | W | NS 3HW4 170 2SN-1 100 70 2 EW110 -2
13 | N |Both 2SE-1 100 3HS-3 300 || 400 9 EW100 5 5
14 | E |None 2HN2 110 1NS1 90 20 1 NS70 1 -1
15| S | NS 4SW-1 50 4SE-1 50 EW60 3 -3
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9 N | EW 3CS-1 50 3DW-1 100 150 4 EW70 1 -5
10 E |Both 6HW7 1460 4HW7 710 750 13 EW960 -11 -6
11 S |None 4SW-1 50 3NE3 400 450 10 EW290 8 3
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13 | N |Both 2HS-1 100 2HS-1 100 EW100
14 | E |None 3HN-2 100 2HN-1 50 50 2 NS70 -5 3
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10 E |Both 4HW7 710 4HE7 710 EW960 6 -6
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